Solve Radical Equations

Solve each radical equation. Be sure to check your solutions.

a)Vx—6=4 b) ¥x— 6 =4
Vx+6=4 dix+6=4
e)Vv3x+5—-2=-1 f)3ve—x+4=-8

Go to onlinemathlearning.com for more free math resources




Solve Radical Equations

Solve each radical equation. Be sure to check your solutions.

a)Jx—6=14 b)Yx—6=4
3= _
VT =10 Yx =10
Check: V100—6=10—6=4 Check: Y1000 —6=10—6 = 4
So 100 is a valid solution. S0 1,000 is a valid solution.
Vx+6=14 dDYx+6=4
Vx = -2 Vx = -2
x =4 x:_8
Check: V446 =2+ 6 = 8, and Check: Y=8+6=-2+6=
8 # 4, s0 4 is not a valid solution. 4, so —8is a valid solution.
e)v3x+5—-2=-1 f)3ve—x+4=-8
V3x+5=1 3v6 —x = —12
3x+5=1 V6 —x=—4
3x = —4 6—x=16
ot x=-10
-3
Check: /3(—§)+5—2 - Check: 3./6 — (—10) + 4 =
VA¥5-2=+v1-2=—1 so 3v16 +4 =3(4) + 4 = 16, and
4, . . # —8, 50-10 is not a valid
— —is a valid solution. )
3 solution.
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